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PAPER -1

Directions (Q.No. 1 — Q.No. 5) : At first
sight silence would seem to be the essence
of non communication. Yet we know that
in some circumstances silence can speak
volumes. It is also a potent tool in the
communication tool box, for the speaker,
as it adds emphasis to point, allowing time
for its full significance to sink in. Handled
skillfully, it can build up anticipation for
what is to come — the pregnant pause.
It gives opportunity to make eye contact
with audience and gauge their reactions.
It is an essential component of the timing
of one’s delivery. For the listener silence
can buy time, either to digest what has
been said or to consider a response, or
both. Silence will, often lure the speaker
into saying more than he or she may have

intended.

1. Silence is an essential component of
(A) Non-communication
(B) Gauging reaction of people
(C) The timing of one’s delivery
(D) Distraction

Paper -1
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s otgHl WG At 3 Yuslel
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U A Ul A ¢lA ¥ ugfla
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Al AR sl A a2 Aub
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un sladl @sta eala 8. Bouell
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(D) (Q&w
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2.

According to the author, the pregnant
pause

(A) Breaks up communication
(B) Helps communication
(C) Build up anticipation

(D) Leads to confusion

For the listener silence can
(A) Emphasize a point

(B} Be a potent tool

(C} Speak volumes

(D) Buy time

. Silence seems to be essence of

(A) Communication
(B) Transmission
(C) Non-Communication

(D) Communication tool box

. What provides an opportunity to

make eye contact with the audience ?
(A} Communication

(B) Discussion

(C) Silence

(D) Gesture

Paper -1
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(A) atclct ol 52l
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3. sl W2 Yudlél
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4. Yuslel s HE WR B
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(D) Uclldel GusWL
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(A) cltetAlet

(B) ual

(C) Yusdlel
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6.

Which of the following are considered
as both input and output devices ?

a. Touch screen
b. USB memory devices
c. CD drive
d. Screen projector
(A) a,cand d
(B} a,bandc
(C) a,bandd
(D) bcandd

Which of the following statements are
true ?
a. Cache memory is used to enhance

the performance of computer
system.

b. Primary memory is also known as
main memory.

c. Hard diskis an example of secondary
memory.

d. Static Random Access Memory
(SRAM) is not a Cache memory.

(A) a and b are true, while c and d are
false

(B) a and c are true, while b and d are
false

(C) b, c and d are true, while a is
false

(D} a, b and c are true, while d is
false

Paper - ]
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6. il & U Sotye ual G2y olal

GusQ Ht wiHet awa B ?

a. 2 Wlot

b. USB L slausal
c. CDslesd

d. glet Ylgse

(A) a,cua d

(B) a,b ual ¢

(C) a,b wal d
(D} b, c A d

. ol el 53 Quet WA B

a. %y Nadlell auvnel 512
RreHoll slelaticdl aua e

b. WEH A, Aot AR ddl
i 9.

c. 81§ dles, A¥ogl A sr2id 8

d. @RS a8l AsAY AHE (SRAM)
s A3 a2l

(A) a A b WU D Woalc v d
wiet 8.

(B) a WA ¢ AU B vy b wa d
wlal 8.

(C) b, cual d [U B Wl a
w2l 8.

(D) a, b 2 ¢ WU B Wl d
wiel 8.

00



BE

8.

10.

Which of the following are characteristics
of CC-BY-SA?

a. Allows to copy and publish
b. Attribution required
c. Cannot be used commercially
d. Cannot be modified and adapted
e. Cannot change license
(A) a, band e
(B) a,b,dand e
(C) a,c,dand e
(D) b,dand e

In relation to NMEICT mission
document, which of the following is
not true for opportunities of ICT in
education ?

(A} Availability of EQuSAT

(B} High power consumption
connectivity and computing
devices

(C) The abundance of knowledge on
the internet

(D) Rapidly expanding network of
cyber kiosks and cyber cafes

Which of the following has been

conceived as ‘One Stop Education
Portal’ ?

(A) SAMAGRA
(B) SAMARTH
(C) SAKSHAT
(D) DIKSHA

Paper — 1

8. o{lA WAA [AsclHi sl @Qseuni
CC - BY - SAoll (&l 8

a. o1t ol YstAd saell Higdl
b. QL wlstell vuas

c. calcRRASs A] o auAx

d. YRl ¥ 812 of uy A}

e. cladY oedl o asiu

(A) a,bual e

(B} a,b,d 3ad €

C) a,c,d wa e
(D) b, d ua €

9. NMEICT (aletell doiau 520 @scu
ICT ui Rlawl 12 s 2 B,
(A) AsyAzell Guetstidl

(B) GgMdl auza sl wa
stejfEot [ScueSy

(C) tozrazell HElell Yyl

(D) USSR BAd vl WS 3
gll »suell Aectfoll [Qral?

10. -l s2l @seu ‘cot RY A%wy3 Aol

e ot deelHi B,

(A) U121
(B) ¥l
(C) dlald
D) €lau
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120

13.

14.

Look this series 40, 38, 34, 32, 28,
what number should come next ?

(A) 24
) 27

(B) 22
(D) 26

Find the next term of given series.
ABD, DGK, HMS, MTB, SBL,
(A) ZKU (B) ZKW

(C) XKW (D) ZAB

Find the next term of given series.

C4X, FOU, I16R,

(A) L25P
(C) L27P

(B) L250
(D) L29S

Which of the following is in descending
order ?

(A) 5/8,9/13, 11/17
B) 5/8,11/17,9/13
(©) 9/13, 11/17,5/8
(D) 11/17,9/13,5/8

15. 4/7 of 2/3 of 5/6 of 5/8 of 1008 is
(A) 200 (B) 144
(C) 64 (D) 400
Paper — I

11.

12.

13.

14.

185.

2 AN %A 40,38,34,32,28,
6d 52l Aisd vl ATH ?

(A) 24 (B) 22

(C) 27 (D) 26

WUAA SANHL &Q wlclallR AGE
g2l 69l 7

ABD, DGK, HMS, MTB, SBL,
(A) ZKU
(C) XKW

(B) ZKW
(D) ZAB

A, SANHL & Lol 2AGE
sl oA ?
C4X, FOU, 116R,
(A) L25P
(C) L27P

(B) L250
(D) L29S

12 A4l 52 GAcll sHHL B ?
(A) 5/8,9/13, 11/17
(B) 5/8,11/17,9/13
(C) 9/13,11/17,5/8

D) 11/17,9/13,5/8

1008 il 5/8 oll 5/6 oll 2/3 ol 4/7

(A US g awa ?
(A) 200 (B) 144
(C) 64 (D) 400
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16. Which of the following pollutants pose

the highest risk to human health and
environment ?

(A) Particulate matter
(B) Nitrogen dioxide
(C) Sulphur dioxide
(D) Carbon monoxide

17. Which of the following is not a priority
area for ‘Education for Sustainable

Development’ for 2030 ?

(A) Advancing Policy

(B) Transforming Learning
Environments

(C) Empowering and mobilizing youth

(D) Building capacities of
administrators

18. Match the following and choose the

correct option given below.

Movement Activist
I. Chipko a. M. S. Swaminathan
Movement
II. Narmada b. Medha Paatekar
Bachao
Movement
III. Green c. Amrita Devi
Revolution
IV. Bishnoi d. Sunderlal
Movement Bahuguna
I o m v
(A) b a d c
(B} ¢ b a d
(C) d b a c
Da b C d
Paper -1 8
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16. o{lAottmiofl 53 YgNA Metd wdloa
el UlaRyl 1R @ slellsis .
(A) 5L
(B) stlefgloyat SLRASME'S
(C) UHR Sl2USAUE'S
(D) stolet ellsrueSs

17. “2030 M2 2516 Q@sideu Rlaer w2
(L Aettniell 53 wasdl Ao o2l

(A) yald oA
(B) Alvellotl cltctargi uRadat
(C) Yaualal AAsct AR oAl 524

(D) yauasell atxcuoll [@Asin

18. o3 w e @scda And ul @Ascu
ALl

Nt WiEltot 5Ll
L Ausl widledtet a. w2, 2eialloit s

ILop{e oAl b. New yes?
UIEIEA
11 &Rt sil@ ¢ uycl 2l

IV. (QatelleS WiElctot d. YoE A GLgIY U

I o m 1Iv
AAb a d c
(B) ¢ b a d
C)d b a c
(D)a b c d
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19.

20.

“The Future We Want” is an outcome

document of
(A) Brundtland Commission

(B) United Nations Conference on

Sustainable Development

(C) World Commission on Environment

and Development

(D} United Nations Environment

Programme

The Nagoya Protocol on ‘Access to
Genetic Resources and the fair and

equitable sharing of Benefits’ is an

(A) International agreement that aims

to lessen water pollution

(B) International agreement which aims
at sharing the benefits arising from
the utilization of genetic resources

in all possible ways

(C) International agreement which aims
at sharing the benefits arising from
the utilization of genetic resources

in a fair and equitable way

(D) International agreement which
aims to ensure the safe handling,
transport and use of living modified

organisms {LMOs)

Paper - |

19.

20.

53] @scu “€ sgUR ol aAle” 4
uRoum 8

(A) ¥e@oS y210L

(B) 256 [Qstat U ¥Yscl ARell
uRe

(€) walicRe wua Qs uR Qu sMast

(D) YoilgFes Ao ANocliioz WolH

ulofci@ls AAlslloll USA v cielloll

sl vl wilet aduell uR «onal

ylasla

(A) i Al Boll GRA w0
YENLL Yatsaletl B

iR AUl Bell GE2
i s A wejcl@s
datiellott Gualotedll Ggctell
dlellal aductlell 8

(B)

(C) wicRRAA Ml Bl G2t

wtefcl@ls Aritisllott GualdLel
Gaclcll el ARl waA WHLAElA

aduciel 8

(D) i uuYell Bl GR
Al uRaget ua living
modified organisms all GUalL
(LMOs)
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21. Study the chart and answer the
question, the Pie chart given here
represents the domestic expenditure of
a family in percent. If the total monthly
income of the family is Rs. 55,660/-.
After PF deductions and payment of the
house rent, the total monthly income

of the family remains

Family Expenditure

mPF

BFood

B House Rent

@& Entertainment
BChild Education
WMedical

(A) 38662

(B) 38862

(C) 38962

(D) 38752

Paper - I 10

21. éall wead 53 Yl weor ),

UL WE AEHL A5 Feololl ccdullol
W eald 8. sduoll et s

ulds 3 55,660/- B, Al PF wa

URRHLS AU GlE sEoioll e

RS was 3 D .

WRaRs vl

u PF
2 s
B uzqf oug

B Heliwn

B el

(A) 38662
(B) 38862
(C) 38962

(D) 38752

B winse el
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22.

23.

Choose the graph that best fits with
this statement : “House prices rose in
January and February, fell slightly in
March and are now holding steady”.

F 3

(A)

v

-

(B)

\®)

v

N\ —

.
|

(D)

A researcher uses systematic random
sampling from a company directory
that has 500 employees listed in
alphabetical order. If the desired
samples size is 20, and the first name
to be selected is number 9, which of the
following will not be selected ?

(A) 89
(B) 134
(C) 309
(D) 484

Paper — |
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23.

A

22, u Quiet #A B Well ay Yo

A gl e 5 : “Hstotell B
fogltdl el Fopuudl Wi all edl,
waln 4l udl ua g FAR B

A

(A}

(B)

v

©

v

N\ —

.
L

As susll RrseAul 500 swlou
AU HOURR ool s B. ddlus
RreRdls ae®s oot uriedoll
Gulol 53 B, %l AR A ot¥eile] 5E
20 flal A YUH UAE UAA R
9 8, Al (1A A4l s elolk U¥E
4 o8l ?

(A) 89

(B) 134

(C) 309

(D) 484

00

( A~



S

24,

25.

The bar graph given below shows
the Foreign Exchange Reserves of
a Country (in millions US$) from
1991-92 to 1998-99. The ratio of the
number of years in which the foreign
exchange reserves are above the
average reserves, to those in which
the reserves are below the average

reserves is

Foreign Exchange Reserve of a Country
{in million US$)

1991-92 1992-93 1993-94 1994-95 1995-96 199697 1997-98 1998-99

(A) 2:6
B) 3:4
() 3:5
(D) 4: 4

What is the major purpose of Data
Interpretation ?

(A) Getting meaning from the data and
arriving as a conclusion

(B) Classification of data

(C) Analysis of data using suitable
statistical tool

(D) Comparing different classified
data

Paper - 1
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{12 20 leUAUH] As B3l
1991-92 &l 1998-99 ytlloil Q2 2l
Hal elsikal eld B. (in millions US$)

FHl [AEell st cistz arudlel Guz,

U WAUA QA B QA ol
Avul ool

et AsHAoy 3 35 A 50l

{in million USS$)
430

2560
' )

1991-52 1992-93 [993-94 1994-95 {99596 1996-97 [9G7-98 199399

(A) 2:6
B} 3:4
(C) 3:5

D) 4:4

HBA uduzatal yuu 3d w6UA.

(A) 1Rl el w18 Anadl wa
URQUM GUR ag.

B) 1l collszal

(C) 09 uissianallal Gus:WL gL
Hedle @vamal

(D) xel-%¢€l callset WRdlell qetou
s2dl.
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26.

27.

28.

The main objective of formative
evaluation

(A) To find out the difficulties in
learning
(B) To enhance students’ learning

(C) To promote students to the next
class

(D) To develop cooperation among
students

Which of the following options is not
befitting to online teaching concept ?

(A) Swayamprabha
(B) Massive Open Online Courses
(C}) Shodh Ganga

(D) Google meet

Which of the following statements
about individual differences are
true ?

1. Every child is unique and different
from each other.

2. The same level of intelligence, the
achievement level of student may

be different.

Heredity and environment both
are the reason for individual
differences.

4. Individual differences are related

to psychology only.

Individual differences are there but
it does not make any difference.
(A) 1,2 and 3 (B) 1,2 and 4
(C) 2,3and 5 (D) 3,4and 5

5.

Paper - |
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28.

A

26. WUAMS(RNE ) Heisetoll YU

&d
(A) utatzenl usdl yeellll gucl
(B) Raueflow AUtAAal AR,

(C) @euellal et cdluisul
Hlsed.

(D) QanelRAn uestRct {Asauaan.

oA Qhlow sl [AscU ulel Aot
Bk Uol ASEUAML Yiolet aiell ?

(A) aziyel
(B) Adla st Aelctsat SRR
(C) 20w siou

(D) Pl e

o2 Aot sl Quuell dafsas
dstadlell Aeelnl e B.

1. uds Qaell / cas wUBAa B
wal ws —oflonell el 8.

aull oRsal Al vdl , Rl san
o€l —€l- A b,

a2 A il | olal
QaGAs dstadl Hidel Q0 B.

Qs dstadl 5 Helldsuls
ool W oot 8,

QaEs astadl A8 ad ua Aol
5 s§ usdl otell.

(A) 1,2 wa 3 (B) 1,2 o 4
(C) 2,3 w5 (D) 3,4 ¥ 5
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29. One of your student remains quite
in the class discussion while he/she

is very talkative and playful outside
the class, what would you do ?

1. Try to find why he/she remains
quite in the class discussion and

talk to him/her.

. Assign him/her some topic to
speak in the class.

- You will ask question to the
student so he/she has to speak.

. Let him/her be quite as it is
his/her nature.

Send him/her to playground
and let him play where he/she
is comfortable.

(A) 1, 2 and 3
(C) 1,3 and 5

(B) 2, 3 and 4
(D) 2,4and 5

30. Bright student causes disturbance
in showing of his/her knowledge
while you are teaching, what would
you do ?

1. Give him/her some work that he
can not do so he realise that he/

she doesn’t know everything.

. Give him/her some difficult work
in the area of his/her interest.

Give him/her some books to read
in the area of his/her interest.

4. You will connect his/her points

in your talk.

S. Complain against him/her to his/

her parents.
(A) 1,2 and 4
(C) 2,3and 5

(B) 2,4and 5
(D) 2,3 and 4

Paper -1
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29. dutA adlall As [Qeuell aoluis uiuj
A /LFA 23 B, waud aoluis welz
d ctuta A ucflaun B, did 9 529l ?

L cpluis uAHL A 21 1 ARB2 22

8 dell ctuld 290 wa Aol W
clcl $290.

2. doluisHi olleter M2 Aa As Yelod]
Auell 5290,

3. Ax A [Qaella yat yesil B2l A
olleAd usal.

4. A alict ¥cll £, INF A o Aol
ys(d 8.

5. Aol RHdell Aeteldi QS A A
U €l 3ME U o A AR B,

{A) 1,2 wa 3 (B) 2,3 wa 4

(C) 1,3 wa 5 (D) 2,4 wa 5

30. AR dd llucl 28 8l 2 As
Qaseell [Qauell Wetle] stiotal 2wl 531
cluisHi uAct ufwdl 6l B. d g
g0l ?

L dal d o 53] ad Aq st wyusll
Bl Aol vaud A ¥ A Wy o
onRLl /osetedl otell,

2. dstl U=l Al AR NG yBel
S el

3. dotl el AAHL A AsL Yctdl
aludl wU L

4. AHRL YdUatHl dR doll Helllal
52l

5. dolt [Az6 QAell cucllA sBaue
CEXTN ‘

(A) 1,2 ua 4 B) 2,4 wa 5

(C) 2,3 UA 5 (D) 2,3 ua 4

00
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31. Deep Ecology has focused upon

a
b
c

d

€

. Ecosophy

. Sustainable life style

. Richness and diversity of life
. Deforestation

. Only abiotic ecosystem

Choose the correct option given below.

(A) Options b, d and e are correct

(B) Options a, ¢ and b are correct

(C) Options a, b and e are correct

(D) Options b, ¢ and e are correct

32.

As per the latest report on ‘All India

Survey on Higher Education (2019-
2020)’, the Gender Parity Index in
India is

(A) 1.01

(B) 1.02

(€) 1.11

D) 1.21

33.

Higher Education 4.0 has emphasized

more upon

(A) Synchronous learning

(B) Blended mode of learning

(C) Face to face learning

(D) Adult and continuing learning

Pape

r-1

15

31.

32.

33.

6§ 85N tauel E1RY B

a. 8%

b. 2516 Paadcl

c. Wl ua Waololl @RuAL
d. dotellofgl

e. ¥lAs vsRReH

12 e Qscluidl wA @seu
9llll

(A) Rscub, d vale WA B
B) @Qscu a,c wa b WA B
(€) @scu a, b ual e WA B
(D) @scu b, ¢ 2l e WA B

et 8RB U 2ot laAR AWebAst
(2019-20)” ll AlBdRel BUSUA

Yl (@dt UMLotcll Bds
(A} 1.01
(B) 1.02
(€) 1.11

(D) 1.21

Aufleel 4.0 A R Y5l B

(A) Retslom alslo
B) @tatell B uald
(C) 3613 QLR

(D) dla A Ao Rl
00
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34. Match the following given in List - I and
List — II and select the correct option

given below.
List - I

1. National

Digital Library

2. National

Academic

Depository

3. e-Yantra

4. e-Shodh
Sindhu

1
(A) d
B) d
(© b
(D) d

35.

O 0P oN

T 0 W

List - II

. Plenty of

international
electronic
Jjournals and
e-books are
made available
to all HEIs

. To incorporate

Robotics in
Engineering
Education

. To facilitate

digital issuance,
storage, access
and verification
of Academic
credentials

. To develop a

framework of
virtual repository
of learning
resources with

a single window
search facility

4

oo g0

Which of the following core principle

has not been mentioned in National
Education Policy 2020 ?

{A) Extensive use of Technology
(B) Respect for Global Diversity
(C) Synergy in curriculum

(D) Creativity and critical thinking

Paper - 1
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34. (A 2 A€l T wa I A Al

A [Ascu aa.

ALEL - |

L. qeld Slegeet a.

CIBRE]|

2. a3ledd
As3MAs
SlRed

3. e -2y

4. e-ANuRly

1
(A) d
(B) d
) b
(D) d

O 0 0 TN

35.

b.

T A0 D W

A€l - 1
A [Qaeell
Arela uellay
wldAFla
SAsEUs uHRA S
U & o5 Guciol
sAA B
gRAalRFol e
ARsAe] yuldre
5]
s Aamedl
staaR(l, dale
Guallal ueal
UsAR(loll Slwea
(Qang] ) usla
Rbiet (d3)
Yl WA w2l
duolle] vueul
RARA w2
Hay dar s2q

4

L P T o

2ot WAxYRel 2020 oll

HeelHl oA ule [@Qselldl s ya
Rgictoll GcAu el g2l

(A) dselll oAl caulus yallal

B) dAs QQuA YA Aet

(C) UeAUUSHH] YA

(D) AFoUHSAl WA A& Rlctat

00
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36. Match Section - I with Section — II.

Section -1

1. Haptics a.

2. Proxemics b.

3. Paralanguage c.

4. Kinesics d.

Section - 11

Use of body
movement

Use of space
and effects

Communication
through
touching

Use of pitch and
volume of voice

A) 1-a,2-b,3-c,4-d

B) 1-b,2-a,3-d,4-c

(C) 1-¢,2-d,3-a,4-b

(D) 1-¢,2-b,3-d,4-a

37. Which of the following are the example

of communicative tool ?

1. Teleconferencing

2. Voice mail

3. Chat

4. Multimedia Encyclopedia

(A) 1,3 and 4
B) 1,2 and 3
(C) 1,2 and 4

(D) 2,3 and 4
Paper - |
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A

36. [Qewol -1 sl @euot—- 1A 201 fld

37.

%13\
Qewol = I Qeuol - I
1. sy a. WiRs sctel —

U stoll GUAldL
2. QsABsn b, eyl WA wURA

Guailot

3. WAAAY c. A9l ealR
Yeil2lel

4. Baallsu d. elell Hatell

Gyt

(A) 1-a,2-b,3~c,4~-d
B) 1-b,2-a,3-d,4-c
(C) 1-¢,2~d,3-a,4-b
D) 1-¢,2-b,3-d,4-~a

ol U4l 52 Yculotoll Hltloto]
GelelWL B ?

1. 2@85360t
2. QA N

3. A2
4. GEHITRAH suatslal

(A) 1,3 ol 4
(B) 1,2 ua 3
(C) 1,2 v 4

(D) 2,3 ua 4

00



38. Which is not a characteristics of
Effective Communication ?
(A) Completeness
(B) Cultural heterogeneity

(C) Concreteness

(D) Correctness

39. Which of the following is not a component

of a communication system ?
(A) Sender

(B) Message

(C) Feedback

(D) Reinforcement

40. What are the causes of semantic

barriers in communication ?
1. Poorly expressed message
2. Use of technical language
3. Unnatural assumption

4. Lack of attention

A) 2,3, 4

B)1,2,3

C) 1,3,4

D) 1,2, 4

Paper - I

18

38. {12 U4l 52f WUUBRS YellAoto]

Aagl o2,

(A) yalal

(B) uieslds @Quuc
(C) olssRdl

(D) AUl

39. (1A Ul ¢ Yelael dote] ues otell ?

(A) HsCaAR
(B) dta
(C) uldywdl

(D) Ys@s

40. o{lA Ufl seUl ylAot W2 HaAdu3U

slell 8 7
1. atotoll A 2% Ade dEdl
2. dAsEH e Gualat
3. AR YRRl
4. tRlletoll Beiel
A) 2, 3,4
®) 1,2,3
C) 1,3, 4
D) 1,2, 4
00
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41‘

42.

Paper — I

Given below are two statements — One

is labeled as Assertion (A) and the other
is labeled as Reason (R).

Assertion (A) : Government of India has
established higher educational bodies
to ensure the quality of education.

Reason {(R) : There are some educational
institutions in India which do not

provide quality education.

In the context of the above two
statements, choose the correct

option.

(A) Both {A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is

not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R} is true

Which of the following statements are
true in the context of Vyapti ?

1. Itis the relation between middle and
major term in the logical ground of
inference.

2. It means a state of pervasion.
3. Vyapti serves a basis of Nyaya
syllogism.
(A) 1 and 2
(C) 1 and 3

(B) 2 and 3
(D) 1,2and 3

19

41.

42‘

A

ol 2wt A Qutell B. As [Quilate]
AHI@ et ELCL (A) VA WoRla]

AlHU@tlet 520 (R) 8.

ELl(A): R URsR [Qawtell ojatart
YRR sc G Aail@ls ureudl
2l 8.

50U (R): @l 3eclls dalls deuxdl
8 3 ¥ ojatcriysd Qe g ool

GUscl & cisaell Aeelnl,
202 Gl UME 82U

(A) oial (A) el (R) Al B Wal (R) A
(A) ofl 200 2urecl 8

(B) ool (A)nal (R) AU B URL(R) A
(A) ol 2o xredl otell

(C) (A)UY B, WARR) W B
(D) (A) Wi B, UL R)UY B

‘U’ ol Acalni o1lA Ul s
Qauell 2w & ?

1. Aajilotoll dllBs AAHL HEl UA
Yuel oE oA ol B.

2. A cuus R 3.

3. Ul srulaell BUUR Y3 W3 8.

(B) 2 wa 3

D) 1,2 U 3
00
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43’

45.

Find the next term of given series.

ATTRIBUTION, TTRIBUTIO, RIBUTIO,
IBUTI.... ?

(A) BUT
(B) UTI
(C) UT

(D) IBU

In a certain relationship
S x T means S is brother of T
S - T means S is mother of T

S + Tmeans S is father of T

Answer the following question based
on data above.

In the pattern M + N + O, how is M
related to O ?

(A) Uncle

(B) Father

(C) Cousin

(D) Grandfather

Which of the following diagrams
indicates the best relation between
Travelers, Train and Bus ?

@A) @ O‘B’O

O
(D)

20

430

45.

WA AN Hil 2ol se L.

ATTRIBUTION, TTRIBUTIO, RIBUTIO,
IBUTL.... ?

(A) BUT
(B) UTI
(C) UT

(D) IBU

. ALssH A HL -

SxTued S A Tl lltf B.
S-T Aed S A Toll 1 .
S+T AWeA S A Tall Qcl &.

GuRe(l HIRA 2u? ol Actl ysiall
ogcllod WU,

M+ N+ O ol dieui, M s¢ 3l
O U ¥l & ?

(A) 58
(B) Al
(C) SUSL/HIHL doltell e /oidet

(D) ELEL

1A U8l 58 sl yauAl, 265t uA
WY Rl A Aoiua eold B

“(©) o QP

O

©) . D) @Z@

00
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46. How an achievement test is different

47. Sequential use of the three levels of

from Entrance test ?

(A) Achievement test needs high
content validity whereas
Entrance test needs high

construct validity.

(B} Achievement test needs high
construct validity whereas
Entrance test needs high

content validity.

(C) Achievement test needs high
predictive validity whereas
Entrance test needs high

content validity.

(D) Achievement test needs high
content validity whereas Entrance
test needs high predictive validity.

coding — open coding, selective coding

and theoretical coding is done in
(A) Phenomenological research
(B) Ethnographic research

(C) Grounded theory research

(D) Case study research

Paper — |

21

s& 9] ?

(A) R sl udlauui G
Auaad yHeddl 8 8

sl YA udlewni 2ueitell
G YHIReclcll &lu B.

(B) AR sadl udauni uetiell
G2 YHIRLeAL Sl el yasl

udlaunl G [Anadrdg
YHIRLG el Sl 8.

AR sl udleuni G
QRIS YHIQLE AL Sl

& w8 ydal uslauHi G

(C)

A

46. QAR sWA ulaw ua yaa udlaw 1

@Quaczg  yaeeddl sl 8.

R sAS udtaunt Gy
[Quaidg yHIRe Al
REREIERIGE
udlattti G UIRQUHS
YHIRLeY At S 8.

(D)

47. 5\(3otell 2L iRl 55 Guallol —

vlluet 5301, ActsCa s\WSat,
yaAResa s\Sat

(A) deotloualla 2l
(B) sjdalau 9y
(C) yflolt Rgid 0

(D) callsa weat

00
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48.

49.

50.

Paper - 1

In a reaction scale, the scale values
are from O to 5. Which of the following
scales of measurement is applicable
for the data collected by this scale ?

(A) Nominal scale
(B) Ordinal scale
{C) Interval scale
(D) Ratio scale

Which of the following is a normal

group ?

(A) Skewness is zero and it is
Platykurtic

(B) Mean = Median = Mode and it is
Leptokurtic

(C) Mean = Median = Mode and it is
Platykurtic

(D) Skewness is zero and it is
Mesokurtic

The transformation of human mind
from theological metaphysical to a
rational and scientific belief led to
the emergence of

(A} Holism
(B) Rationalism

(C) Critical consciousness

(D) Positivism

48.

49,

50.

A

As ylAurR Bet GU Bl Bet ey 0

el 5 8. (A A4l 52 Bl WBA
UsCet HE GUalloHl Aaudl ?

(A) 2Qom HY
(B} BoisH HIU
(©) At WY
(D) 3Gl Y

el sall WM YU B ?

(A) e AA B ua A QA8lsls D

(B) et = {ll3atet = s WAl N
Ausdls &

(€) Hlot = l32tet = HUs waA A
Audsdls B

(D) ¥WYaAA A B wa A AAss B

enelillal dlfs w@ ellQsell auEs
U dsiAs Hiotaedrl uRddstoll
$10 Ggal 2w B -

(A) dHAUALCUE
(B) cale
() ¥l neusuy

(D) &5RLHSALALE
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Space for Rough Work
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Paper - I

Space for Rough Work
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